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Kapil had noted down the number of pencils and erasers in his stationery shop. 
But he has lost the note. All he remembers is that there were about(50pencils 
and (80)erasers. Later, Kapil found the note. There were exactly 47 pencils and 
82 erasers in his 

ROUNDING OFF NUMBERS TO THE NEAREST TEN 

47 is close to S0. So he rounded it up to 50. 

82 is close to 80. So he rounded it down to 80. 
º A number is rounded down to the nearest ten if the ones digit Is 4 or less. 
ºA number is rounded up to the nearest ten if th 

If a number is exactly between the two tens, it is 
higher ten. 

1. 

5. 

A. Fill in the blanks with the help of the number line. 

10 (13 20 

B. Round off each number to the nearest ten. 

3<5 
vondS 

Exercise 1.5 

2. 32 

27 30 (35) 

6. 64 

s40 

1. 13 is between 10 and 20 but closer to 10, So, 13 is rounded off to 

2. 27 is between 20 and 30.but closer to 30, So, 27 is rounded off to30 

3. 35 is exactly in the middle of 30 and 40. So, 35 is rounded off tofo 
4. 44 is between 40 and 50 but closer to So, 44 is rounded off to 40 l 

3. 95IO 

7. 92 

ones digit is 5 or more. 

always rounded up to the 

44 

4+ 

50 

4. 61 

32’ 30 
35 ’ 40 

4’0 

82 

tt. 

8 17 20 17 

shop. The numbers 50 and 80 are close to the exact numbers. 
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